GeolLogPlot
(Scale: 5":100' (10'))

Digital Drilling Data
Systems, LL

State: Colorado
County: Weld
Country: USA

Company: Cathedral
Well: Frederiksen 1A-28H
Field: DJ Basin

Well ID: 400143158

Job Number: 115281
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Run #11

Location: DJ Basin Elev KB: 4989
Operator 1: Otha Elev DF:
Operator 2: Aaron Evans Elev GL: 4976
Comment 1:
Comment 2:
Comment 3:
Comment 4:
Comment 5:
Hole Data Casing Record
Size From To Size From To
12.25 0 835 95/8 0 835
8.75 835 7518 7 0 7518
6.125 7518 11663 4.5 7518 11663
Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5
Tool S/N 1120 1120 1161 1120 1120
Cal Factor 4.56 4.56 4.56 4.56 4.56
Gamma Offset 33 49 40 40 40
Start Depth 835 4612 4860 4860 6998
Start Date 7/20 7/23 7/26 7/26 7/28
Start Time 18:00 3:00 3:00 14:00 5:30
End Depth 4612 4860 4860 6998 7543
End Date 7/23 7/25 7/26 7/27 7/30
End Time 18:00 18:00 12:00 19:00 6:00
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